restart;
a = Pi*(1+(1/4)*sinh(u)A2)*cosh(u)A2;
a:= 17[ 1+ % Sinh(u)z] cosh(u)2

a2 := subs(sinh(u) = (exp(uw)-exp(-u))*(1/2), a);

2
a2 = Tl'[ 1+ l[leu— le(_u)] J Cosh(u)2
4| 2 2

a3 := subs(cosh(u) = (exp(uw+exp(-u))*(1/2), a2);

2
ag;:n[Hl[leu_iew] ][1 1 (”)j
a2 2 > >

a4 := expand(a3);

1 2 15 1 4
adi= —me" + 2me T — et ¢+ =
4 3 2 n
4(e") 64 (e ")
a5 := int(a4, u);
2 1 4
as:=—mEe") + Zmu- LAl + we" - il
L2 256 4
8(e") 256 (e ")
g := unapply(a5, u);
1 unl 15 ™ 1 wt T
g=u—>—Tmle’) + —mu- + me’) -
8 32 u2 256 4
8(e”) 256 (e ")
a6 9(109(2+sqrt(5))) g(0);
4
a6--1‘r(2+«/— +—2Trln2+«/—)— il 2+21 1T(2+'\/§)
8 3 8 (2 + 4/5) >0
~ T
4
256 (2 + 4/5)
a7 := int*Pi*(1+xA2)*sqrt(1+4*xA2), x = o 1)

an——ivﬁ[4?4(4umm—1yJE 4J_VE—2vhd%: %
_ngF(%J?—%L%—MmmJJﬁ—gJﬁd§+%v?h{% +1

simplify(a6-a7);



L 0

> evalf(ab);

>
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